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FUTTHS SHemevenowTFflwit wBmpid FAAwir CUBHSMBHEDHHE UEIHSLD,

1. TenauTHeNe Hevald HIHmd 2 UITHHID ChToHalsd DiFs LLCaIm
BLVHBHIL LRGN  SHULIOL G  OFwsouBHs eImESBHL.  LOTEILLOEG
HIPH  (PHLUT DIUTHET DUHBGEH CHemeuwimen FnBHev HgHlenul
QULDBIBIUGTTENTTHGT. DTG — LieTed  HeOlHHIenm  DeMIDFFT
SIGUTHEHLD, H6LeVHHINM SI6VIAN6VITH(6THE G Cxhemeuuiment
ACTFMUBET  QUPEIFS,  DMAHH  HULBIBEHD  (LPIOSHLOWITS
LOIT63016) T 6061 & &6y SlenL_ul HL_6)19 8560 H 6061 RICEY:S

QU(HBIBTTHENT.

2. eteniGe, SITFT6L QULPMIGBLILIL L M HF F VI HEHEN6NTU|LD
QUFHHMENULD  UsiTerlluled (prpemowind  LiweilBsHd  Lomewteuiaeriler
BH606M & Hmemeat BB H DI HHI LDIT 60T 6) 7T & 6MSTTULD
QuTHISBHTaley, CHTFF SHLWF OFUlNgH BD  DIEDITHI
SHLMLOWITEH MBS, G, LDIT 600T6) T (6TH &b &) FmriLy Luime
SIeMMBHCouemmngouighl SUFUIDTESIBGI.

3. QHHmBWI Grré@E L6t Suimfleba i L @A dbemaBulL_1gemet,
FNwitseT Fpliunsd ewadwTen  Galswi(BlD  6160IMID,  HHISHEHEDL U
WITH 2 _empliilensis S 100 FHMNBHLD CapTeFlb@,

o HNBIOTBID HhiHemeT DL e Col (hdh OEHmeiTalGmmip.

ueitellds sevaldy HlehHMm
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SI6NIL| LoTewTeNF OFLMIBEHHG — HELUTLDSHIHIHHEIT

6T&ITQU(HLD QUTHIHBHTem6) 6TSHITOEBT6ITETHLD LOIT 600T6) T & 61T EANEA ]

SileyemyHenen Lileubmp 6L el Geuent(Bas Gpei.

o @aIbeuT(H BTGP eT6ien  LIgHs Ceouswi(Bd 6lILMS (P Fnl 196Ul

SO Geuewr(Bd. LYedr S L IO LLIg Ligdhsd Geuemr(BLb.

e “ Early Rise is Half Done “ eisiignid cpgienyd@ gmL Didsmensouied
I LIDHHHMS gBLBHHEH OHmeien Geuswi(BLd.

o QOpTemevdssTL & uniliumg HliTds GalsmrBLo.

o Ghwu UrFgmenuisy Wwemend OFNIHHHInL TH

o g fflwirser, OQuBCDBTTHsT euPET BHemev  (PpUPwLWTS  Llemms

Bexem1(HLD

o oFH WHIGU GuUB Gl 6T6ilLmS HBECHTENMTHE  Glbmeni(h

GFweouL Geusmir(BLD

o Fpal 2 MPLLD, elLTpWBFAULD eumpeled BHRIGET 2 WITeISHBSHT6

L9551 (hd 61T

o “semib@ ob@ Ledb@®  6leipl  6TemiemiTosy  GenSHHHHIL 6

LSBT “Geuipl 2 Bz
o “seaiampd LWIBAWD senlisidler Rm Hewimsir”’

SimeaulD BCHiTallsd GeuBdnsl GUB HELETDIHHIHH6I

Page 2



UserMedia.blogspot.com

Uirfleyes@mid sumiiiLe emL
aeomdscsafier  OeoL WAlSH0LL
GTEHOT6001 165 6M & ﬂﬂm
Ll 1 15 15 15
16
30 sug el
2, 16 30 ‘a;!'_l_n?u aflesTm” @5 ‘ 10
*EratoTig 6 6607 Gulg &fleh
BosEn
16
45 sugy) aflewrm “sL L mu
@ 31 45 slflewmm. &L Lmu eflssmm 9
*@imstng s epeiTm” auipelsd
Bosen
2
46 E\Tetmg 60 gpetTm) 1
(either or)
1]
2
47 (@)Tsdima 60 epetTa)] 1
(either or)
Glum(eT_&&&SIn@E ermu WS GlLemer LR
LU Slfley ) el saiflshr 6Ts66T 60t M Qurds
. o Culifley 1 2 5 10 s
AT wSiQusir | wHQustT | wHIQUssT | wiIGUsTT EILGILsGTSST
1 &.su}imjﬁ@m 1 > B s
SMILEEL
5 : : -
2 Glgm_rm;@_rt.l:n Glgm_it ) - - M
auIfleme & (emin
3 | Qubssnfsio 2 2 3 21
4 N 1 2 1 10
5 %mg,ﬁe_.r,lrsmsu 5 3 - 6
sulg elfliLich
6 alp Al 2 1 1 9
7 (p&GamamTaiiLa 2 2 1 11
g ayamafish 1 2 2 15
9 Gaipsmm aigaflwsd 2 20
10 SUEMITLIL IS ET 2 20
11 uirefluSu 1 1 1 g
12 flassa] 1 1 1 8
Qundeih 15 16 16 4 167

Page 3



UserMedia.blogspot.com

Thszssr_ Qe ulidss, surfidsiulL aamssda yfunndinsrer wSlGusmr ukSe

tilifisy 2y tilfley 2y kfley ikl ‘o .
(1 i) | (2 Qo) | (5 iOusi) | (10 wiiiGus) | PHSSD | HoahsE
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1 Cauipems  augailulsd 10
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3 SHENIMRIGBEHLD  FTTLHEHLD 15
4 16007 B 61T 10
5 AWSH0HTeMe0 augallwtsd ( uuiBdl 5.1 — 5.2 ) 8
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QMHLOHIOILIGHT  6)lGITTEHSH6IT:

1. SewrmisEsD Sy EnsL0

gflwrer aflemLmus 65ih0lsHiesnLb.

17 A wimnd B. erstruer @letor(h) SHemmager erers. AUB = A eeusngs Coemauumenr
mmin GuTgLomssr S HOUTH.
(A) BCA (B) ACBH (C) A+#B (D) AnNB=¢
Z. A CB etaflsd, ANB =
(A) B (B) A\B (C) A (D) B\A
3. P wpmid Q ereiruet sTGaamiDh @\Tevor(h) SemThigeT eTerflsn, PN O =
(A) {x: x€P geevg x 0} (B) {x:x € Pummtdx ¢ Q}
(C) {x:x € Pummu x € Q} (D) {x:x & Pupmn x € O}
4, A={p qrs}.B={nst u}eafld. A\B =
(A) {p.q} (B) {tu; (©) {rs} @ P.arns;
5. n[p(A)] = 64 eresflsn. n(A) =
(A) 6 (B) 8 © 4 D) 5

6. A, B unmid C gu&hu sTE5mb elpsiTy) Seombigenée. AN(BUC) =
(A) (AUB)U(BNC) (B) (AnNB)U(ANC)
(C) Au(BNCOC) (D) (AUB)N(BUC)
7. A4, B i @ireior(p) semmaisEnsE. {((A\B)U(B\A)FN(ANB) =
(A) ¢ (B) AUR (C) AnB (D) A'NnB'

8. &Gy Qarpldsiu (Herarensugsafle Seummen s Hm eTE?

(A) A\B=AnNKF (B) A\B=AnNB

(C) A\B=(AUB)NF (D) A\B=(AUB)\B
9. A, B wimid C oy Sl pupsimm) Semmaisemée@ B\ (AUC) =

(A) (A\B)N(A\C) (B) (B\A)N(B\C)

(©) (B\A)N(A\C) (D) (A\B)N(B\C)
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10.  n(4)=20. n(B)=30upmry r(AUB) = 40 eeflsb, n(ANB) =
(A) 50 (B) 10 (C) 40 (D) 70
1. {(x.2). (4. y) } s susll& smimusé @HéSng seafls, (x,y) =
(A) 2.4) (B) 4.2) (C) 2.2) (D) (4.4)
12, {(7.11). (5. a) } s uridlFemaus GilsSng aeafle, <a’ -6 wHiy
(A) 7 (B) 11 ) 5 (D) 9
13, flx) =(—1)" stevrugy N-s0imig Z- & susomumidsi U (Blsteng. -6 alFFsin
(A) {1} B) N ©{1.-1} (D) Z
14. f={(6.3).(8.9).(5.3). (—1. 6) } sreufled. 3-6tT (Lp6tT 2_(W,&HH6IT
(A) Swnmun—1  (B) 6 wmmid 8 (C) 8 wmmid —1 (D) 6 wmmid 5
15. A={1.3.4.7.11 ) wibmeh B ={-1,1.2.5,7.9 } eéirs.
f={(1.-1).(3.2),(4.1). (7. 5). (11. 9) } stemmeurmy myeowohg sy [ : A — B eemug
(A) ReITNIS G METMITET ST (B) (Guos &y

(C) @mumé smiy (D) &miy ysusu

16.  GarEissiul (bsrem UL LD @GS @Ln Sy, s

C D
o
(A) Cuogh gy (B) wmflell ammiy ey
(C) medT)&(& FETTIMET HITL (D) &miy myshsu =

17. A={5.6.7}.B={1.2.3.4.5 } etetr&. f(x) = x — 2 eretrmeum) cusnyiLsny Gleinniu’ L
gmiy f: A — BEer efFssi,
A) {1.4,5} (@) {1,2.3,4,5} (C) {2,3.4} (D) {3.4.5)
18.  f(x) =x"+ 5 emanflsv. f(—4) =
(A) 26 (B) 21 (C) 20 (D) —20
19. sy snmflen aIF&sin RmDIILES SEETONETITE, &) (T
(A) wmadldF smy (B) swefld ammy
(C) @mung smy (D) sReiTmI&G, ReTmmeT ST

20,  f:A— B sm @@mund smiy whnid n(d) = 5 eeflsy, n(B) =

(A) 10 (B) 4 (C) 5 (D) 25
NlenL_FH6IT:
1 2 3 4 5 6 7 3 g 10
A C A A B A B B B
11 12 13 14 15 16 17 18 19 20
A B C D A D D B A C
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2. GuiiGustrssfleir Gar_rauflenssEmd G TEEm

sflurer ailmLmws G5k 0lsHidsnL.
1. Ulstre(meuaTaumeT 6Tl GLoiiumeTs S». MHmsdsy?
(A) @wed sreiorHefleir semnd [N -60 euemmuenm Glanuiul L QuolGwstr whHlsnL g smiy
R CsmLiauflensum@L.
(B) spsuGleum(m, smiyh e QsmLi suflguflansrs @i @Ln.
(C) sp(m, GsMLtieuflema, (Lpigafled] eTsaorsnslSema1Tsh 2 M| FHenemd: ClSTenTl (T,SHE0LD.
(D) s GamLiieufleng, (pipaim) sTsmenflEmaudlsy o mismerd ClameiTle (T8 S6TLD.

2. 1.1,2.3.5.8, - ereoim Qgm_ricuflenaulleir 8 oynig o min

(A) 25 (B) 24 (C) 23 (D) 21
111 1 o : b, & MLy - -3 : ]
3. T 6 12020 T Qgm_reuflemauilsh, 2 mi| 20 oG 2B55 2 My
1 L L L
(A 51 ® 55 © 35 @ g
4. a. b, c. I. m eretruen & U (HS ClarLieuflsnsufisd @mondler @ — 4b+ 6c — 4l +m =
(A) 1 (B) 2 (©) 3 (D) 0
5. a. b, ¢ sretTue R HFL(HS QEmiaflengufed 2 smeme eTeuflsy, i :i =
a b a
(a) & ® L ©) 4 D) 1
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1007 +10 erasrugy @ GOsm_iaflmesullsr n o a8 2 Ml eeafld, g

(A) am &L (5 Csniafas (B) sm Gumses Qamianflms
(C) s wmilsls CsmLiauflans

(D) @ &L 0S5 Qaroiauflamayn oo CumsEs Gamraflmayn ajsea

a,a,, @, - e R &L 0§ Gsmruflmauigiererer. Glogib a_j:
136ug) 2 miy
(A) % (B) 0 ©) 12a (D) 14a

a.a,, .- oG Qe &L 0% Ggntaiflens e, a, a . a .-~ &1
GlamLiauflemeaume s

(A) spm Qums @S CsmLiauiflons

(B) s s (H5 Qsrieuflsns

(C) s s (s Qamiauflasn e CumsEs Cemiaiflmayn s
(D) sp(m, Lomiflebls Glamrianfleng

B F LU 0% Gsr_iauflmsuflsr ybhssbEs epsrm 2 miyser k + 2, 4k — 6. 3k— 2

eTenflsb, K -6tT Loy

(A) 2 (B) 3 (€) 4 D) 5

a, b, ¢, [, m. nsteiruen &L (05 Clam_iauflsnasulls) ojsmiomgsiems ereofls,
3a+7.3b+7.3¢c+7.31+ 7.3m+ 7.3n + 7 eretip Glam_riaufleng

(A) s QumsEs Cariaflmg

(B) mm &L (h& Qar_iaiflas

(C) s wmiflsils Qsmiauflsna

(D) s &L (s Oaroiuflamawun mysn Cums@s Gemfarflmayn e

am Qumses Qsmi aflaaufls) 3 o aig 2 My 2 eaflsh, 6T e 5 2 miiyseaflsr

Glum & SiiLisustr

@) 5° (B) 2° (©) 10 (D) 15

a. b, ¢ eramue s GUTEES GsTLiauflansuis o rearer sTeufls, _g :? -
a b 4 <

(a) & ®) £ © ¢ ®) 3

x, 2x+ 2. 3x+ 3 eramuer @ GQUmEES Qem_raiflensuflsdmindsr

S5x, 10x + 10, 15x + 15 eretip Glamfeuflenaumearg

(A) m F 05 Cam_iaurflma

(B) s Gums@s Gsmianflsng

(C) s st Cmiaflans

(D) fm &L 0% Cam_iaflsmayn s Cumses Csmanfsmain myss
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14, =3,-3.-3.-- eeup Qem_ieuflenawumemgi
(A) fm sl (S Gam_iauflens W (Hio
(B) @ QumsEs Gsmiauflsns wl (Hib
(C) s & L0% Qamiauflanaiun syse CumsEs ariauflemsuyn o
(D) s &=L (1S Camfauflens whni QuTEEs Qariuflng
15, s@m GumsEs Gsmrarflssullar (pHea mrsng = muyseflsr Cumssbuswer 256,
2ysett Gumg eflElSin 4 oD e (pse 2 mil Wleng stetar eTesflsh, LS CLmEESs
Glsm_euflenaudlsim 3 sugl o ity
L Y L
(A) 8 (B) 1¢ (©) 35 (D) 16
16. e (umses Gsmiarfmauiy 1, = % LoMmKD ¢, = % eTenfls0, mysetr GumsailElsin
n Ly ‘ 5
(&) 3 (B) 3 ()1 (D) *
17.  x+# 0 erafléd, 1 + secx 4 sec x +sec x +sec x + sec’x =
(A) (1+secx) (sec’ x + sec X + sec x) (B) (1 +secx)(1+ sec” X + sec x)
(C) (1 —secx)(secx + sec X + sec x) (D) (1 +secx)(1+ sec’ x + sec'x)
18. 1 =3 5n erarugl @ &L 0% Ggmiufmeuiiar n oyeug o i e,
M&a L (05 CsrranflsnauilsT wpae n o i sSseflar s (bl
(A) %[l —5n] (B) n(l —5n) (©) 5—!{1 +5n) (D) ’Q—T(l +n)
19. &"7".ad". d""" aem Qumd s QarLiaMmeuliisr Qurg alfsi
(A} a"f (B} a—"f (C} a” (D-} a—ll’
20, 1+2+3+. . +n=kaafe, I'+2°+ -+ 1 adrug
@ & ® K © 22D o) (k4 1y
elenL_SH6iT
1 2 3 4 5 6 7 8 9 10
B D D D A B B B B
11 12 13 14 15 16 17 18 19 20
B A B D A B B A C A
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3. Qunsemilsh

gflurer sflenLsmws G5k 6 s ([HdsanLb.

1.

6x — 2y =3, kx —y = 2 ereimn Qam@UilnE sGrewmm, Siay 2 sirClL ssfled,

(A) k=3 (B) k#3 (C) k=4 (D) k#4

@\m wmilseflsd 2 srer Crflus FwsruTBssfls CGsT@GUY RLRISMOUTSE 666,
2eumfleiT eUEMITLIL HIS6iT

(A) speirilstr g spsiTmy GlLMLESID (B) s, Usmaifludlsd Gleullp & Clsmsimgmid
(C) embal1 yemaflufigund Qo' e & Qameremmg (D) x-yfeng Glau (B
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13;
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X —4y =8, 3x—12y =24 ereoranitd suwsTuTHasflsar Gam@illie

(A) (ppeflsd sretmremflHensufled STaymer 2 sTemer

(B) iny @evemen

(C) sGrGwmm Siey Lo (Bib 2 svor(p)

(D) s &iay @lm&EsamDd 2jsag) Blsosmomin [@)maasma.

plx) = (k +4)x"+13x+3k eTeiTamiD LisvemiCECamensunfleir sp(m W FFILD LonClmmeiralsir
gemsudLihumenTmen, k6T gl

(A) 2 (B) 3 () 4 D) 5
fAx)=2"+(p+3)x+5 eTemmamil  UsmISGCaTmauisr @@ U Furisefls
& (Db U FFIGinaflsh p-6ir Sy,

(A) 3 (B) 4 (C) -3 D) 4
X —2x+7 TaTUEnG ¥ +4 96 aGsEh Curg Sl SEL W
(A) 28 (B) 29 (C) 30 (D) 31

X =S¢ +T7x—4 sTEITLIEN S X—1 )60 UGEGLD CuTg Slen_&GID ey
(A)x"+4x+3 (B) ¥ —4x+3 (C) ¥ —4x—3 (D) x +4x—3

C+1) wimnd x* — 1 oy Slusareumiifieor 1. Clum.ai

(A) ¥ —1 B) ¥ +1 (€) x+1 D) x—1
X —2xy+y Lofhtd xt = ¥y’ ayusTaier 5. QuT.cs

(A 1 (B) xty (©) »y D) 2" -’
X —a wimh (x— a)? oy Ehuesreumifletr u. G

A) (£ —a)(x+a) B) (' —a)(x—af

©) (x—aPx+ax+d) D) (x+al(x’+ax+a’)
kel eremnCLimg Lo b A S%Qlumﬁ)ﬂéﬁ 1ff. Glum.o

@a” ®) o © a"" @) o
% starTend afldlspm Gamameauiler lsd smsEiu aulgpaud

@) £=3 B) 3 () 2 @) £=3
% LommILD M apdwer  @m, aAFupm CamemeauEer eTanfle, el

a+b
Gl a;a;p]usum

2 2 2 - 2 .
(A) a +ab+b_ ®) L—gbtb () a—ab-b w
a*—ab+b a“ +ab+b a +ab+b ab—b
x+§5 ETERTLIEM S ’H' 5 gﬂ,su UGS G CUTE) HlenL_SGID Fray
J.

(A) x-5)(x-3) (B) (X —S)x+3) (O) x+5)(x-3) (D) (x +5)(x+3)
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3

Ll a‘i 5 Ly bb—:a o0& &L, SemLSHE USu Camsne

(A) ' +ab+b° ®B) a—ab+b* (€ d+b° (D) @’ -b’
16. 49 (.1r2 —2xy + yz)z-sﬁr UIT &S pLPBULD

(&) 7lx—y| ®) (x+y)x—y) (© Tx+y* @) Tx-y)’
17. X +_v2 +zz—2x}'+ 2yz — 22X 60T QTS SELPRILD

(A) |x+y—z| B) |[x—y+z| Q) |x+y+z|] D) |x—y—2z
18.  121x*y* 2% — m) EUIT & EpLSULD

(A) 1 1.r2'v4z4|f —m]| B) 11y |2 (1= m)|

(©) 11x7y* 281 — m]| D) 11x°y* |2 (1= m)|

19. ax’+bx+e=0 ETGUT() SFLOGHTLIM lp 65T pLPGUMIGETALOLD 6T6uTIS), C-60T LOZILIL|

i b b~ b~
) 2¢ ® 4 © =22 ) ~4g
20, X +5kx+16=0 6T6IT) FLO6ETLITL lp i@ GoGlusdT elpsuriiger @lsiemsuGliuenflsy,
8 - _ 8 3 8 8
%8 o - T <g<s
@) k> % ®) k>-% © -S<k<% @ 0<k<i
21. 3 -5 s, epeuDT S GlEmeorL @(mUle & FLosiTum(p)
(A) ¥—6x—5=0 (B) ¥ +6x-5=0
(€) xX—5x—6=0 D) x—5x+6=0
2. X —bx+c=0 LMD X +bx—a=0 oy Fwerur(peaflsr QUTgiameT epsid
cta c—da ct+h atb

2
23, g 40, T yemwks Fwerun( ax 4+ bx + ¢ = 061 eperuger @ wHmd S erefled,
UlstreumeustTeummsT 675 Gloinushsu?

@) a3+52:f7‘——22¢1€-‘ (B) a{j:%
a
_b l,1__5b
(©) a+b=-— B) bg=—y
24. ax' +bx+c=0 eetm @EUes SWETUT o6 epomider ¢ womn f  eefle,

}? Lommith %,— & FLETEIN DN PLPEISETTSS Glasmesr [ Uie FFLosum(p

(A) ax’+bx+c=0 B) bx'+ax+c=0
(C) ex"+bx+a=0 (D) ex*+ax+b=0
25. b=a+cests. ax + bx + ¢ = 0 sTem SWTUM i 63T plpeuISET S1th sTevfl6,
(A) a=c (B) a=-c¢
(C) a=2c (D) a=-Ic
allenL_&6iT
1 & 3 4 5 6 7 8 9 10
B C A A C D B C C C
11 12 13 14 15 16 17 18 19 20
D B A A A D D D B
21 22 23 24 25
D A C C A
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4. gjemwflser

sflwrear afleLmus G5k 0lsHiosn)b.

L.

Ll6tT U eUsITRUMMIET 6TThSéh S D GLoilnuimenT Ssoeu?

(A) Slenauiledl ayemilurers @ s&IT Sjsmiium@a.

(B) eupemsu il L myewfLmenma s, ST Sysuoflum@LD.

(C) SHemauiledl myemfuraral s epsne ol L syemflumEL0.
(D) eupemsn 'L myewafhumeimay saem, Hemaudled mysoflumsin.

2. A= [a,] . cToTUS R SEIT oot erentlen,
(Aym < n (BYm>n (Cym=1 (Dym=n
x4+ 7 5 1 y—2' . 20 e ; o T
3. — . 1 o
v+l 2- 3x) ( g 8 ) gTeutlsb, X LOMMID V-&erfleor LSliLgeT (emmGiu
1 -+ o _ 1 2
(A) 2.7 ®) —37 (G D) 2,1
(—1 )
4. A={1—2 3)‘Lﬂﬁ_}glll_.ﬂ B:( 2)6‘I’Eﬂﬂ6i3,A—B=
—5 | 0\
(A) (0 0 0) ®B)| 0
0/
) (-14) (D) susmmumis s eflshsmen
5. R yewflufsr aufleng 2 X 3 srerfléb, oysuausmfiuflsh 2 erer o minsefisi ereemildomna
(4) 5 (B) 6 ©) 2 (D) 3
8 4 21 2 ; F
6. (x 8):4(1 z)ﬂs:rﬂsu,x—mm,é,h_lu
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(B0 - 62" crigy gy 2wigSe BT T
c il |PBC g D
éeﬁ@/ UL?%D | AR ")}39_@ b2
|ABC = JE?ae [&24—54]
190 b P

| ABC :61{

cy@qngﬁw %CDJ&f;V Y27 BT @ﬁw
@LW (,pmr AP=gtm , (P=F U,

M
PD = 3um |, PBags Henes - (,
51’37'- ULGFR  APxPB = CPXPD ’
AXKT = 248 A :

x = 3K

F

x =6
PR =buvt

' @@ @ﬂu;ﬁgzb AB C@gw cé@@fmm @L@‘érp@
m@.kggﬂ (Z] @Wéﬁzﬁrfd{%@rﬁwf AB=4 UM, BP=- 5um |
PR = v T CDpE Loz - f) .

%ﬁ”]’: “Lé%’ PAXPB = PCAPD ¥, .
Ax5 = [3+X]x 3 - 3
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15 = 3+% PA=5+4=9
o = 15-3 Pt = 3+
2% :I‘Z)
£ CD = r2m
51 a5

L5 PR,TB R Ok OEs 00 e

; | O¥prerolL- QUELé%;%aéﬂ Cﬂaé&l%fﬁmﬁl 725}RE2%§9 D Jul I

O s P - DG oL hp@ ETTBe .
Yoiisth L o AL OnsTa PP = 15Um T
A PcDr g;;:pm oLy

49" @@ ousghEl IG5
Chosstangoiror® L ASES

G Hols
Pp = PB
cA=CE
DB = DE
NP Do éﬁ%¥gpﬂﬂ = Oc+CD+DP
- Pc+ ce+ED+ PD
- Peach +DBHIR
Gkt ME
- pA + PB
_ pp + PA
- 2PA
A 9 ) = axe “\
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B 7o

&3' Hrpths QILGE O sa™ ' c
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PA=h6@® Br-go &
DR = DS éa CR :cfa;é@)

O+ 8 +2+6)
ﬁp+g?)+ CR+DE =A6+8BR+CQR+DS

Py

vl

= f157+325.+5359.f{;ab

AB+cD =AD+3Bec

by 7 = A4bE

b+7-65
]13-6-5 = =
bs = %

AD =6 -5umn -

n
]
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udley arctn

Register Number

seooflglhb /| MATHEMATICS
( &0 whpd yifle auf) / Tamil & English Versions )
( NEW SYLLABUS )

Cgid : 2; weed | [ Guoris wdiGuesiamet : 100

Time Allowed : 2% Hours | | Maximum Marks : 100

sflgor : seby emssend sflure s@sls uflandl adergr  aduBEE
sfluniggs  Qensierayd.  spsiudals  gopdeodd, oDk
s@nsraiiurafi_b oL enqurss Qgflalssan.

Instruction : Check the gquestion paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

@il | Note : @euelanpsrer prag Jflasener Glameon g
This question paper contain Four Sections.

Ulfley - 1/ SECTION - I
( wfliQuedoraet : 15 ) / ( Marks : 15 )

@l 1) @oifale o_sren 15 alamrssgnsen alewelléaayb.

i) Qer@ésiu@eer prang wLrbp ololsdle  Heep  eflurea
ol aws CaibEs05e sab.

Note : 1) Answer all the 15 questions.
ii) Choose the correct answer in each question. Each of the questions
contains four options with just one correct option. 15%x1=15

1. f={06.3)(8.9)(5.3)(-1,6))ecallé 3-¢1 e 2_mdsst

i) 5 inpgd — 1 21) 6whpd 8 @) 8uwhgd -1 #) 6 whpb 5.
Hf={(6,3).(89).(5.3).(-1.86)}, then the pre-images of 3 are
a)] S5and-1 b) 6Gand8 c) Band-1 dl 6andS5.
2. 142+3+. . +n=keaald 1°+2°+3%+__+n® aaugy
: k(k+1
) _k2 ) k3 @) —-—(2+) #)  (k+1)
H1+2+3+..... +n =k, then 1342%.3%, _+nis equal to
a) k2 bk '_‘-{!;—*3-] d)  (k+1)>

| fimiiye, / Turn over
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3. Epsergud eappseiles og sauprag 7
) {au}j.l-g glk)=a,. VY k€N e cuepupbsiu’L g : N — R aamm ariurs

S(hHD,

2) 66 Qer it aflosds wyapr acradsamsds +piyse GGasand

@) ©6 stiutaig Qe aiflesurs Goés Cauamgu seudlud Gdome.

%) f:R —=R@HG f(x)=2x+1, x€ER e sriureng o Qani aflos
G0

Which of the following statements is false ?

a) {au}j_l can be viewed as a function g : N — R defined by g (k)=a,. ¥V KEN

bl A sequence may have infinitely many terms
¢) A function is not necessarily a sequence
d) The functionf:R — R given by f(x ) = 2x + 1. x € R is a sequence.

4.  x%45kx+16=0 aerp soauTghE CuiGues apatiss G)d e Gl

: 8 -8 -8 8 8
3) kbg ) k=? &) -s—-ck-r.g 7) Dckxg_ >
If x2 +5kx+16=0 has no real roots, then i
8 -8 -8 8 8
a) k:-g b) kb? c) -s--:kcg d) Ulzkd.g,
5. epuuser Bxywhph 28ab g dluaihpe B.CluT au.
&) 140 xyab 3|) smeonl @GueuT g
@ 1 #) 0.
The G.C.D. of 5xy and 28ab is
a) 140 xyab b) cannot be determined L
c) i d) 0
6. e Ader auifles 3 x 4 wppib S B @ cuflens 4 x 3 erafles BA dlan auflens ‘
2) 3x3 &) 4x4 :
@) 4x3 #)  suspunibsliuL afldeme.
If a matrix A is of order 3 x 4 and a matrix B is of order 4 x 3. then the order of
BA is
“a) 3x3 b) 4x4
c) 4x3 d) not defined.
7. dpssrggd apsiyeiefadar Qereiy 8y Crisdam gd swmoub ?
) (1,-1%(=-1,10(0,0) Qg)ll.—l!l.l—l.l].{ﬂ.ll

g (1,-1)(-1,1)(1.0) F) (L=3)(=-1.1){1 )
Which of the following sets of points is collinear ? g
al (L=1)L(-1,1)000) b) (L-1)(=1.1)10/1)
e (1,=-1)%(-13.,1)(%,0) d (L-1)(=1,1)(1,1)
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3 1123(N)
(2.-7) erem ysirefl auifls Qescugin, x 2iéHpe Eleaouran guorer CritaCar v
SueLIT(H

) x=2 ) x=-7 @} y=-7 k) y=2,
The equation of the straight line passing through the point ( 2, - 7 ) and parallel
to x-axis, is

a x=2 b) x=-7 el y=~7 d y=2

Qan@ssiu U gdlé o cter prpayin APOQ &1 shpeney 26 Gauf whpd
AP = 10 Qia4f. O ererug eul L gdlen emwpiwin, AP wppid AQ @y fluemas A VNmha
UeTuIL@D Qer@Bar e aaflé el gHed 2470

P

A

@) 6 Qe <) 3Gleif @) 8Geif F) 16 Qe

The perimeter of the quadrilateral APOQ is 26 cm and AP = 10 cm. O is the
centre of the circle, Then the radius of the circle is [ where AP and AQ are the

tangents from A )
P
N

Q
a) 6cm b} 3cm c) Bcm d 16 cm.

QunGaren wsGsramib AABC Blé £ B = 90° whpd BD L AC. BD = 8 Qs.f,
AD = 4 Qs .18 aafléy CD =

3) 24 Qs .8 2) 16 Qe uf @) 32Qs.8 #) 8 Gs.f.

A ABC is a right angled triangle, where 2 B = 90° and BD | AC. If BD = 8 cm,
AD = 4 em, then CD is

al 24 em b} 16 cm c) 32cm d) 8cm.
cos?0
1-sinf

&) sin B &) cos @ @) —-cosh F) -sin B,

a) sin# b) cos @ c) -cosH d) -sin 0.

[ #l®iys / Turn over
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12. 9 tan26 - 9 sec’0=

2) 1 ) 0 @ 9o B) -9
9 tan®6 - 9 sec’0=
a) 1 b) 0 (o F d =9

13. 2 Qe Qb o 6en G Garensdled suemeTUyiL
i) 8n Q82 ) 16 Qe 82 @) 121Ge ¥) 16x@as 82
If the radius of a sphere is 2 cm, then the curved surface area of the sphere is
equal to
a) 8n cm? b) 16 cm? c) 12x em? d) 16xa cm?.

14. g ysefl aysdar alloses auiiébn synafl 1225 aaflé sy HL alabsd
2{) 36 2) 3 @) 25 #) 3-25.

If the variance of a data is 12-25, then the standard deviation is
a) 35 b) 3 c), 25 d) 3:25.

15. P(A)=025P(B)=050.P(ANDB) - 0-14 srefléy, P [ Ayb e Buyb e ) =
=) 0:39 ) 025 @) 011 §) 0:24. :
HP(A1=0‘25.P(B]=0'50,P(AI"‘|B}=0-I4. then P ( neither A nor B ) =
a) 039 b) 025 ¢}y 0411 d) 0-24.

Jfley - 11 / SECTION - II
(wHuGuename : 20 ) / ( Marks : 20)

efliy: 1) Qurghd upp NETEEEHE allenLweflssayb.
ii) ol o  30-4%  adIgUUTS e wellbsayb.  WH
14 cSenméaa\Ghe gEa@ubd 9 alambamend Caiay Gy,
i) gaQane alomalipeb Gyea6 UGS,

Note : )  Answer 10 questions in all.
i) Question No. 30 is compulsory. Select any 9 questions [rom the
first 14 guestions.
iif) Each guestion carries two marks. 10x 2 =20
16. A ={10, 15, 20, 25. 30, 35, 40, 45, 50 }
B={1,5,10, 15, 20, 30 } wppid
C={7,8.15,20,35,45, 48 jeafl® A\ (BN C) arcos.
IfA = {10, 15. 20, 25, 30, 35, 40, 45, 50}
B={1,5.10,15, 20, 30 } and
c={7.8, 15, 20, 35, 45, 48 }, find A\ (BN C).
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30

18,

20.

21,

22,

23.

24,

5 1123(N)

Xe={ 130,80 4 S ¥ Yo I 1. 8.5 7.9 ) agans, X elmbg Y &aren o pay
(L1 (1,3).08.5).(8,7).(5.7)} sen cuemqugiiier Si@ ST 4GOI G
AT, @levene arefle, sryeamb sap. '

LetX={1,2,3,4,5} Y ={1. 3,5 7 9}and a relation from X to Y is defined as
{0, 10(1,3%(8.5)(8.7).(5.7 ) }. Verify whether the relation is a function
or not. I not, give the reason.

ot 13 e augu@d Fllede Bes apag aetosefcr & B0 suallhem aemids e &,
How many two digit numbers are divisible by 13 ?

a. peaeuar 3x? - 6x +4 =0 GeTEID BeTLN g1 waksdr aafled o + B2 e
WAl smetors. _

lfzu anzd f are the roots of the equation 3x* - 6x + 4 = 0, find the value of
a” + <.

4 -2 8 2
A-[s 9] Wb B-( \ 3} sreflés 6A - 3B ereiip Sicodflenis: sircdors,

-2

4 B .3
If A= and B= . find 6A - 3B.
5 <9 =] -3]

3 -2\/4 1
[5 l) [2 ?] ey Syeoolaeflen CumsE QG sTes.

3 a=2Nre
Find the product of the matrices L
8 102 7

ystiafl ( 1, 3 ) eow pESCar.@ ewwored G wpsGarampdler @ waamae
(=7,6)0ppd (8,5 ) aefle wéGarampdler wanprag wamerawus e,

I the centroid of a triangle is at ( 1. 3 ) and two of its vertices are (=7.6)and
( 8.5 ). then find the third vertex of the triangle.

A ABC il £ A ereinp Garemgdlen 2 1uyp Bwewtaly AD garg Lbsbh BC ow
D dé spfladng. BD = 25 Qe.f, AB = 5 Qa.f whpid AC = 42 Qa.f. eaflch
DC enwé aieors,

In A ABC, the Internal biscctor AD of 2 A meets the side BC at D, If BD = 2'5 em,
AB =5 em and AC = 4:2 cm, then find DC.

[smﬁﬂ + coaﬁl}] = 1 - 3sin®0 cos®0 eren Blpaye.

Prove : (sin% + cosﬁtl] =1 - 3sin6 cos?0. (3;[

| #plys / Turn over
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25. 30 i Werapeiren 66 sdugdler dpdlar ford 1043 & eraflés aflueflen ghné
Canemg e ( saqolLsfldiebe shns Careamn ) Sierallenend mredos.
Find the angular elevation ( angle of elevation from the ground level ) of the sun
when the length of the shadow of a 30 m long pole is 1043 m.

26. 9 sdiefiim o moeniar o e wppic Qaell gyrmse wopCu 12 Qa8 wHmsd
18 Qs 15 areire, Cugud e 2urh 14 Qe aafle, Aeueymeveniden euemeruiyiiy
amennt s, ( .11-—7— e g )

The internal and external radii of a hollow cylinder are 12 em and 18 cm
respectively. If its height is 14 cm, then find its curved surface area,
22
( Take n=—)
7

27. oo s saundear 2T whpid sruyurd apepGu 20 Qs 1f whHpib 29 Qe f aafla
2ipHFledons saiver mer SUGTED S &IT s,

Radius and slant height of a solid cone are 20 em and 29 em respectively. Find
its volume.

28. 43. 24, 38, 56. 22, 39, 45 ol ysiell eflanmsaiear afss whpts aféad Qg
T eom &,

Find the range and the coefficient of range of 43. 24, 38, 56, 22, 39, 45,
29. wesh Qous Gue aavssidlois o6 wey @ ST apenmulle

Gt Qg Gares LG . e GG @B uer  awanns @ wiugherer
Hlapaealana arens,.

An integer is chosen from the first twenty natural numbers. What is the
probability that it is a prime number ?

30. @) @ Qs GhopiumL adnsdlar m@ad 20 aafd 2isLlleuctormenens
GiTeoo s,

Syebag
&)y =7 a@p CpiGamyhe Qeigssraign (1, 2 ) aem yerefl ayflurs
Qg doeugioment Crit@am igen ST sreds.

a) Il the sum of two consecutive odd integers is 20. find the numbers,
OR

b)  Find the cquation of a straight line passing through ( I, 2 ) and
perpendicular to the line y = 7,
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difley - I / SECTION - III
{ 0@ uetmasit : 45 ) / [ Marks : 45 )

@il : 1 Quirgsd gaéug alamssaphg ol wellbsah.

i) eflor  ewm  45-6@ sadugiurs efleolwusésed. e
14 aleméadldmhs gCagib 8 alamnésameap Caiay Glalway.

i) eiQeurs eflerralipeb mbs wEGUES el .
Note : i) Answer 9 questions in all.

i)  Question No. 45 is compulsory. Select any 8 questions from the
first 14 questions.

iii) Each question carries five marks. 9x5=45

U={-2.-1.0.1.2,3,....10,,A={-2,2,3,4. 5 udppo B={1,3.5,8,9}
aens. @ wrisaila s By efldasmas sflurtbaab.
LetU={-2.-1,0,1.2,3,....10},A={-2,2,3,4,5})and B=({1.3,5,8,9}).
Verify De Morgan’s laws of complementation.
amiy f:[-3,7) = R &paanary euaqupibsiu’ Qeierg.

4% -1y -B=x=?
J(x)=43x - 2; 2=xs4

2x - 3; 1<xs6

Sereuaueniauihenms &iredors :

) S(5)4f(6) W S1)-f(-3)
J@) + JCY
i f(-2)-f(4) Y I

A function [:[ -3, 7 ) — R is defined as follows :

a2 -1 ~B=x<2
f(x)=43x - 2; 2=xs4

2x - 3; 4<xs6
Find :
i) fI5)+f(8) i) SL1)-f(-3)

o £3) + J-1) .
) f(-2)-f(4) W) 2116 = i) (é

[ flwpiye / Turn over
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33. a. b, c wipe d eHu o CQuosed Osriaflosde s dema il
(b-¢) + (c-a)® + (d-b)? = (a-d)? s Blpeys.

H a b, ¢ and d are in geometric scquence, then prove that
(b-c)* + (c-a)* + (d-b)* = (a—d)*.

34, smgefliulasie : 2x° - 3x% - 3x + 2
Factorise : 2x°% - 3x%2 - 3x + 2

35. x' - 4x® +10x% - ax + b gB Puatssd aaflé a, b sPuahBar wHILs e
T GO H

Ir x* - 4x® + 10x% - ax + b is a perfect square, then find the values of a and b.

36. g6 Cumeowus Qelu A &g B ou ol 6 prisd @goparss Camaliu@ding.
eaushd Cathy odCamamus Galgre Sios 4 priseie pyss Guein.
e, B 3l siGaumeau aggeman Hreseafld pgshs @uen 7
Person A takes 6 days less than the time taken by the person B to finish a picce

of work. If both A and B together can finish it in 4 days, find the time that B
would take to finish this work by himself.

1 -1
37. A-[z 3) aaflée A? - 44 + 51, = 0 aa Hipeye.

1
If A-[

d q]. then show that A% - 4A + 51, = 0.

38, yeeflash (6,9 ), (7,4 ) (4, 2 )whpd ( 3, 7 ) syfluaipenp epevansanmad: GlaredorL
mrhersHle Lgly sres.
Find the area of the quadrilateral formed by the points (6, 9 ), (7.4 ). 14,2 2
and (3.7 ).

39. A(2.1).B(-2 3)C(4 5)eadus upsGarend ABC fen 2 d8ladr. 2 44
A i mha euemguiiu@d HHEGHTIG 6 ST el d &iTesos.

The vertices of AABC are A(2,1).B(-2,3)and C(4,5) Find the equation of
the median through the vertex A.

10. go wslsransdle po Carensdlan o Lyp QG snblaLguwTo g i@ enimeoo gl b
adiubngos o uypore, sbCareanpas sl ubstssiar aldlpsdle dflseb
— Bloeye.

The internal bisector of an angle of a triangle divides the opposite side Internally
in the ratio of the corresponding sides containing the angle. Prove it.
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200 o4 swyapeien sebsar olaéasdla 2 sddllehs, @ aruuTaT GG
Goredl whmd GG UG Sduabhop urtsHprt. sensor olasssdd oy,
Cpreodll whpd UG Sdue By Hosdle Gy CpréGariyd SieowdleTmen .
Capresll, uLE Sflumpde Gpés Corammmsst wpeapGu 45° whpod 30° eds.
@eualyam@n urgaTiuTs Guss Gan(ib aafle, Smanense @@ OuL gD
Gonhss 300 suurs GGé&s Cacm@b, oLl @ophsrd, ariurert
assflbos el aapin Cao®i. et aésféme gell aagiu Caen@unr 7

From the top of the lighthouse of height 200 feet, the lighthouse keeper observes
a Yacht and a Barge along the same line of sight. The angles of depression for
the Yacht and the Barge are 45° and 30° respectively. For safety purposes the
two sea vessels should be at least 300 feet apart, If they are less than 300 feet,
the keeper has to sound the alarm. Does the keeper have to sound the alarm ?

G sLmyoregl 2 Goede g saby @b agele 2 creng). saimiypdle
Qurgs 2 wyd 13-5 § whpod eqoupsHer oliib 28 5. Cogib s@een LTebbld
2wy 3 eredfléy saL et Quomds LypLLTLRUS &mens.

A tent is in the shape of a right circular eylinder surmounted by a cone. The total

height and the diameter of the base are 13-5 m and 28 m. If the height of the
cylindrical portion is 3 m, find the total surface area of the tent.

o6 udellfgieter 200 wreTaiesT GG UBESS samer il eurddlu
upsshsdfdr aanafémsomu  upflu  odard Fpergud S Laumamila
Qar@ssiuPerong. @ahe S L aflessb arans.

L)@ e hie et e et 6ot deman 0 1 2 3 4

wreTeurmetledn e storcodilens 35 64 68 18 15

The number of books bought at a book fair by 200 students from a school are
given in the following table :

No. of Books 0 1 2 3 4
No. of Students 35 64 68 18 15
Calculate the standard deviation. {;ﬁ

[ §lmLLs / Turn over
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4. oo ouldd 10 Queimer, 5 ey, 3 ubos wipbh 2 Aty Bipliubgimet o efene.
sweuminiy apeoplies CaihGlsPaalu@d GG ubg Cleaudianer sidog HmiY SGEng

uéme Flpors @eiusberer Hapssalaas sradms.

A bag contains 10 white, 5 black. 3 green and 2 red balls. One ball is drawn at

rimdom. Find the probability that the ball drawn is white or black or green,
2 3 g
45. &) x=l+a+a® +a + ... oD

y=1+b+b%+b%+ . aaflés

Tpiab +athd 4 apt o e L :
+ab +a +a’b” + x+g_lmurﬂl,mcua

Hebeug/

) Gpi anLdsaby augeléd @albaiull Opheeiudar oo 42 f whpod
sugh 2:8  eers. G Gppoeluce wopddebs urgerss Hisre
giesflurey Bledsflure wLuu@dps aafle, Cowmauwna dpared  geoflflen
UTCIemLIS: &ITegs .

2

a fx=1l+a+a*+a®+.and

y=14+b+b>+b?+ . then show that

2b2 3b3 Xy

1+ab+a o ——
X+ y-1

+ a

OR

b) A heap of paddy is in the form of a right circular cone whose diameter is
4-2 m and height 2:8 m. If the heap is to be covered exactly by a canvas to

proteet it from rain, then find the area of the canvas needed.
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difley - IV / SECTION - 1v
(wfluQuenas : 20 ) / { Marks : 20 )

esloy: 1) @eulfelle o cren uCans alemealgn Qs ® wrpy olmmsssh

Note :

3)

2,)

a)

b)

Qe @ée LU Hefere.
) gaGaurg olamellgn 2 een Quean® wrhpy efletirdsen oSl i 5
S aflarreaney CothOs0s8 @® afleirés s dein aflen_wefllésay.
i) GeiClaurm eflemealben udgl wllICuEn s,

1) This section contains two questions, each with two alternatives.
i} Answer both the questions choosing either of the alternatives.

lii)  Each question carries ten marks. 2x10=20

SqULESD BC = 55 Qaf, 24 = 60° Lhpd 268 A Seflmha cuequiu.
BO&GCaT® AM ar Ferd 4-5 Qs 18 Qareds A ABC auenra,.

Sebaug
AB = 6 Qa.5, AD = 48 Qs.8, BD = 8 Qs.f whgub CD = 55 Q& if eenp

Syereyser ©)amegor, SUCLBTH&TD ABCD eueoiy s,

Construct a A ABC in which base BC = 5'5 em. zA = 60® and the median

AM from the vertex A is 4-5 cm.
OR

Construct a cyclic quadrilateral ABCD where AB = 6 cm, AD = 4.8 cm,
BD =8 cm and CD = 55 em. G\\

[ #leiiys / Turn over
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a)

b)
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12

y=x>+2x-3 B aegud  aerhg. Boerl  uwdsu@sd
x? - x - 6=0aam BUESTLITI IS 651 (LPURIHEIEIT 8hIT 6001 8.

oGl
x 1 3 5 7 8
y 2 6 10 14 16

Gupsdn. o' sumeoniles 2_chren elaursdlde aengu b aerbe SiEa apeib

) x=4edlé yér uduous sradns.
il y=12aafla x & pfienus srdons.

Draw the graph of y=x* +2x -3 and hence find the roots of
B O

OR 3

X 1 3 5 T 8
y 2 6 10 14 16

Draw the graph for the above table and hence find

f) the valucof y if x = 4 "/

&2

i} thevalueofxify=12.

e e
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SSLC PUBLIC EXAMINATION — APRIL 2012

MATHEMATICS — (NEW SYLLABUS)

UserMedia.blogspot.com

(6e34)8

KEY ANSWERS
; Maximum Marks : 100
PART - A
Each Question Carries one Mark 15x1=15
1. |d)6and 5
2. |a)K?
3. | (a) or (d) Due to printing mistaké in aj
4. cﬁ§<K<§ j
5. |c)1 J
6. |b)4x4
7. [a) (1,-1)(-1,1)(0,0)
8. |c)y=7 B
9. | b)3cm
10. | b) 16cm -
11, | d) -sin®
12.|d)-9
13. | d) 16ncm?
14. | a) 3,5
15.| a) 0,39 i
SECTION — i
Answer any 10
Q.No. 30 is compulsory
16. | BNC = {15,20} -1 Mark
A BNC = {10,25,30,35,40,45,50} -1 Mark
17. | The relation is not a function -1 Mark
Because 1 and 3 is associated with more
than one element -1 Mark
E T [ ETT T m—
a=13, 1=91
":%F+1 -1 Mark
=7 terms. - 1 Mark
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19. | a=3, b=-6, c=4
(a*B) =~ =2 } -1 Mark
G-t
U.B “a 3
a?+p* = (a+B)’ - 2aB
- 8
=4-7
a?+pi= % -1 Mark
20. | 6A-3B ]
4 -2 8 255 )
6(s )3 (4 =) | S
e
a (33 -45) -1 Mark
21.1/3 —-2y/4 1 B
G DG 2
_(12-4 3-14 )
'(20+2 5+7) Tk
{8 -11 -
= (22 - ) 1 Mark
22, | Centroid of a triangle
xy+xp+x3 yi+ya+y3 -1 Mark
3 ! 3
The third vertex is (2,-2) r 1 Mark
23. A
5cm
fn2em
T <
BD _ AB i
D AC 1 Mark
=DC= 21cm -1 Mark

(35 )
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Sin®9+Cos®0

24,
= (Sin’0)* + (Cos?)’ -1 Mark
= 1 -3sin’0cos?0 -1 Mark
25.
Cl =5
30m
A : o |
S — position of the sun
BC - Pole
Tanb = % =3 -1 Mark
0=60° -1 Mark
26. | R=18cm
r=12cm
h=14cm
C.S.A = 2h (R+r)cm? -1 Mark
= 2640 sq.cm (or) 2640cm’? -1 Mark
27.| r=20cm
I=29cm
Volume of cone = i:zrzhmﬁ -1 Mark
h=21cm
V = 8800 cm® (or) 2800rcm® - 1 Mark
28. |Range = L-S5 =34 -1 Mark
_L-§5 _ 34 X
Coefficient of range = T 1 Mark
29. [n(S)=20
n(A)=8 -1 Mark
PA)=2D -8 _2 -1 Mark

n(s) 20 5
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' 30. [ Let x and x+2 be the two consecutive odd integers.

a) | x +(x+2)=20 -1 Mark
x=9and 11 . -1 Mark
Note : This problem can be done in a different way.

Il (OR) —

b |y=7is aline Parallel to x-axis
Required equation of a line is a line Lr to x-axis
= Parallel to y-axis )

(ie) x=c which passes through (1,2)
-~x=1(0r) x-1=0 ; -2 Marks
Note : (i) Even by drawing a diagram one can
solve the problem.
(ii) Different method can be used to solve this
problem
SECTION Il =
Any 9 Questions
Q.No:45 is compulsory
31.[1. (AUB)' = A'"nB' -1 Mark
(AUB)' = {-1,0,6,7,10} ===s--- (1)
A'={-1,0,1,6,7,8,9,10}
B'={-2,-1,0,2,4,6,7,10) -1 Mark
A'nB'={-1,0,6,7,9} ----—-(2) -1 Mark
From (1) and (2) (AuB)' = A'nB’
2. (AnB)' = A'UB' -1 Mark
AnB = {3,5}
(A~B)' ={-2,-1,0,1,2,4,6,7,8,9,10} ---—-- (1)
A'UB'={-2,-1,0,1,2,4,6,7,8,9,10} - (2) -1 Mark |
From (1) and (2) (AnB)' = A'UB'

32.| (i) f(5)+f(6)=7+9 =16 -1 Mark
(i) f(-1) —f(-3) =3-35=-32 -1 Mark
(iii) f(-2) —f(4) = 15-10 =5 -1 Mark
o [BH-1) _ 2 )

(iv) D — 3 2 Marks

33. | Given a,b,c,d are in a geometric sequence
Let r be the common ratio
b =ar, C=ar?, d=ar’ -1 Mark
(b-c)*+{c-a)*+(d-b)’
= (ar-ar’)? +(ar’-a)*+(ar’-ar)® -1 Mark
=(a-d)’ -=ee= Proof - 3 Marks

4 i
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#“.[1|2 3 3 2
0 2 5 -2
2 5 2 |o
(x+1) is a factor -2 Marks
2x?-5x+2 = (x-2)(2x-1) - 2 Marks
2x%-3x%-3x+2 = (x+1)(x-2)(2x-1) -1 Mark
35. _
x> -2x +3
x2 | x*-4x]+ 10x* -ax+b
x* | - 2 Marks
()
-4x* + 10x*
+ .0
- 4xt + 4x? -1 Mark
6x° - ax +b
6x% - 12x +9 -1 Mark
a=12, b=9
a=12
b=9 -1 Mark
36. | Amount of work done by A in 1 day = - -1Mark
Amount of work done by B in 1 day = i -1 Mark

Amount of work done by A and B in 1 day = i
;_6 e i = i -1 Mark

x=12, (or) x=2

Since x=2 is inadmissible, we take x=12.

. B needs 12 days to finish the work by himself- 1 Mark
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3. | p2= (‘31 ‘74) -2 Marks
A2-4A+5l, = ('B1 '74) —4 G ‘31) +5 ({1, ‘;)
= (g g) -3 Marks
38. | Area of the quadrilateral ABCD
- 2 Marks

Rttt

=1[(24+14+28+27) - (63 +16 +6+42)] -2Marks
=17 sq.units. -1 Mark
(Note : Any method can be used)

Blaz) D o)

D is the mid point of BC

D= (1,4) -2 Marks
Equation of the Median AD is

o . ZAL -1 Mark

Y2=n x2=%1

L3x+y-7T=0 - 2 Marks

6 i
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40.

No mark without diagram

41.

Diagram -1 Mark
Given, To prove, Construction: -1 Mark
Proof - 3 Mark

-1 Mark
AC =200V3 - 2 Marks
AB = 146.4 feet -1 Mark

The distance between the sea vessels is 146.4 feet
which is less than 300 feet
So the keeper has to sound the alarm -1 Mark

42.

\

1 125 m
1hm

361. J

1% m

Cylinder :
h=3m
radius =14m

Cone
r=14m
h=135-3
=105m
1=17.5m -1 Mark
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Total surface area of the tent area
=(C.S8.A of the cylinder ) + (C.S.A of Cone)
= 2nrh cm®+ rrim? - 2 Marks
=1034 sq.m (or) 1034m? - 2 Marks
43,
x| f |d=x-A| d* fd fd*
A=2
0| 35 -2 4 -70 140
1| 64 -1 1 -64 64
2| 68 0 0 0 0
3| 18 1 1 18 18
4| 15 2 4 30 60
| Ef = 200 Ifd = -86 | ©fd’=282
-2 Marks
- ’mﬂ 2fdy 2
g = F - (T,f) - 1Mark
o=1.107 - 2 Marks
Note : Any other method can be used.

(44. [n (S)=20 -1 Mark T
P (W)= %g -1 Mark
P(B)= -1 Mark
PG)= > -1 Mark

_18 9
P(WUBUG) = = (or) = -1 Mark
Alter Method
n(s) =20 =1 Mark
P(WUBUG) =1-P(R) -2 Marks
= g (or) % =2 Marks

Page
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45, |Sq =2

a. 1l—r
X=— -1 Mark

1-a
y=— -1 Mark
»a=1
=>b=L"
¥
1+ab+a’h’ = —— -1 Mark
1-ab
i = -2 Marks
f x+y-1
(OR)
45 | Cone
b.
D=4.2m
r=21m
h=28m
1=35m -1 Mark
C.S.A = arlm? -1 Mark
=23.1 sq.m (or) 23.1 m? - 3 Marks
SECTION - IV
Each question carries ten Marks

46. | Rough Diagram -1 Mark

a) | Drawing AB -1 Mark
Drawing Circle - 5 Marks
GH (Altitude line) - 2 Marks
Drawing triangle ABC -1 Mark

(OR)

b) | Rough Diagram -1 Mark
Drawing AB -1 Mark
Triangle - 3 Marks
1r Bisectors - 2 Marks
circle -2 Marks
4" side -1 Mark

9
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47 |x [-5 |4 [-3 [-2 [1 |0 |1 [2 [3 [4 |5

a) |y [12 |5 |0 [-3 [4 [-3 |0 |5 [12 |21 |32
Second Table

X -2 -1 0 1 2

y=3x+3|-3 |0 3 6 9
Tabular Column (First Table) - 2 Marks
Scale X-axis, Y-axis - 2 Marks
Solving the equation -1 Mark
Second Table -1 Mark
Plotting the points - 3 Marks
Solution set (-2,3) -1 Mark

(OR)

b) | Scale -1 Mark
X-axis, Y-axis - 2 Marks
Plotting the points and drawing the line -5 Marks
x=4, y=8 -1 Mark
y=12, x=6 - 1 Mark
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1471(N)

ufley eadm \
Register Number

seonsl /| MATHEMATICS
(B8 wppid @ywdle auyfl / Tamil & English Versions )
( NEW SYLLABUS )

Cp : 2; wesdl | [ Qurss whuQuansst : 100
Time Allowed : 2 Hours | . | Maximum Marks : 100
sy : swapy  laTranEnb eflure el udard) o eienpr  adLEEEN

sflurtggs  Osrereap. - s@atudale eopipulsr,  I@pd
s arefluurerfiLi o Lengurss Qafalssayb.

Instruction : Check the question paper for fairness of printing, If there is any lack of
fairness, inform the Hall Supervisor immediately.

@il [ Note : @esdamssrst preng dflasemer Qe g,
This question paper contain Four Sections.

ifley - 1/ SECTION - I
(wfuGuesmasr : 15) / ( Marks : 15)

@i s 1) @Uifleald e erer 15 allanméa@sé@d aflanL welldsayb.
) Qar@ésiul eten ETENG WTHDI Ne_aeflss Beap  aflure
afle_enus CarhCaBsa s,
Note : i)  Answer all the 15 questions.

i) Choose the correct answer in each question. Each of the questions
contains four options with just one correct option. 15x1=15

1. A={56,7hLB={1.2.3.45}ad@s. f(x)=x-2adpurp aajumD
Qe L sty f: A — B Gén aldesi.
<) {1.4.5} @) {1.2.8.4.5}
@ {2.3.4} #) {3.4.5}

fA={5.6,7}.B={1,2,3,4.5}andf:A — Bisdefined by f(x)=x-2, then
the range of f is

a) {1.4.5} B o {1:2.9,.4,5}

c) {2.3.4} d {3,4.5} \»:’

[ Hmiiys / Turn over
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1471(N) 2
2 s . 9.8 + AL eredIL
o et T e
3) @y QuEpssd Gemi &) eyt Clumsses QUi
@)  gap QUEsE Ger_teuflae F)  wgamn Quessd Qe iefles.
1 B R e
_———t = ==+ — 8
3 2 43" 8 16
a) a finite gcometrical series b) an infinite geometrical series
¢) a finite geometrical sequence d) an infinite geometrical sequence.
a
3. a,,a,,dg... seiLe @B Sl BHOBTLT auflene Slgyerenenr. Gugud a_" = g
7
aadlés s P euflensuliér 13-eug 2 piiy.
=) -g- <) 0 @) 12a #) lda. 3
a <
Ifa,a,,ag... arein A.P. such that —+ = ; then the 13th term of the A.P. -
a
7
is
a) E b)) 0 c) 12a d)  lda.
4. 0, 0 gfluoa B BGUS usigptiyECarmanldn yiflutimens S@DHHTD
Sussyniys Caree ( a, b, c erdiuenal WEuopp CuliCuedsenTss sHEHs )
2
<) X
=) ax? + bx
@) ax® +bx+c
®)  udspiys Caramaemw srem Gers.
If two zeros of a quadratic polynomial are 0, 0 then the corresponding polynomial
is of the form ( a, b, ¢ are non-zero real numbers )
a) x? b) ax? +bx
) ax? +bx+c d) the polynomial cannot be found.
5. 121x* y® 2% (1-m)%-en arssmpeld
o) 1x2ytzt|i-m| 31) 11x4 y* 2% (1-m)|
@) 11x2 y* 2% |t-m| g) 11x2 y* 2% (1-m)|.
The square root of 121 %2 ya 28 [l—m]2 is
a 11x2y* z*|1-m| b 11x? g2 (1-m)|
o 11x?y*z2%|1-m| a  11x? g 23 (1-m)l.
6. s Ader aflos 3 x 4 oppib sl B é@r aflos 4 x 3 gaflév BA Bléin auflens
2) 3x3 &) 4x4
@) 4x3 B)  euepupssiLLaldemne.

If a matrix A is of order 3 x 4 and a matrix B is of order 4 x 3, then the order of
BA is

a 3x3 [ b) 4x=4

c) 4x3 d) not defined.

Page

117



10.

3 1471(N)

£iphargmd sappBeies 618 HOID ? .

=) G Gr_m‘ré.(‘é&-rr@s.aﬂa&i smbeysefilat Qupssd - 1 2SSO @uuidr e
Gl fG HHTE e

&) GTeeT oSgorer, GHDHS éry  Qenehpner @\ @piaGam Hesfien
smbaymeiles QLGHHD — 1 35 GoseD

@ av Crith@HHDD Gt Car@asi GGG &0 Qshiesers Goulle e
st QuEsn — | AS @mHHGD.

5 @ Ggl‘r@&n@s.mﬂﬂ srlieysel 0TS @ el e Geness CHTRHETS
S|ennuyd.

Which of the following statements is false ? d

a) Product of the slopes of two straight lines is - 1, then they are

perpendicular

b) For any pair of perpendicular straight lines their product of the slopes 1s
always = 1

c) Ntwo pon-vertical straight lines are perpendicular, then the product of the
slope ts — 1

d)  If the slopes of the two straight lines are same, then they are parallel.
y = Owhpid x =-4 o Crit GarGaal Qe @id ysirefl

) (0,-4) sy) (-4.0) @) (0.4) %) 14.0).
The point of intersection of the straight lines y = 0 and x = -4 is
a) o=%1 b} (-4.0) ¢c) (0.4) d (4.0}

O-eeu DAL & Garedn(® Qe s Berer arLgdar b 4 Qa3 8,
OP =2 @b, PS = 2 Glg f arafle PQ 681 fenin
Q

faha
L

S

31) 24 Qe 2) 120848 @) 6Gssf §) 3Q@&.
For the given circle O is the centre and the radius is 4 cm, OP = 2 cm, PS = 2 cm.
then the length of PQ is

Q

P

a) 24 cm b) 12cm ¢} 6Gecm d) 3cm.
A PQR & RS eéiugl (R & Garem 2Lyp Gmewliaiy, pg = 6 (APST
QR:BQeme=4®eﬁaﬁmPs=

2) 20Qe8 31) 4Qs8 @) 3 Qe 5) 6Geud.
In A PQR, RS is the bisector of ZR. If PQ = 6 cm., QR = 8 cm, RP = 4 cm, then PS
is equal to

a) 2cm b) 4cm ¢) 3em dy 6 om.

| Hmiys / Turn over
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1471(N) 4
11 a sin 0 b cos 0 aefla =~ + y*
. X = Y= —_ —_—
a? b*
2|) t:12+b2 ) 1 &y a? B) b2,
) 2
Il'x = asinfandy = b cos 0. then the value of — 4 L =
a) b.£
a) a”+p? b) 1 o a2 4 b2
12. 9o Consddioby 285 & grosfa Mep Gy esen GO Cairyydhlen

véflow  45° ghmé Cenampdles  aramdlnnt, SiaupeLw el flaneuls
urteas@er® gerdelims 1582 wrsde 2_cfren g erafléy, Gy 2 wnip

) 30 &) 27548 @) 28548 F) 27185

A man is 285 m away from a tower. His eye level above the ground is 1-5 m. The
angle of elevation of the tower from his eyes is 45° Then the height of the tower
is

al 30m bl 275m c) 285m d)  27m.

I Qeif syyapd wppin 1 Qs Lujyd Qeraie g GptarL 2 marenlda
cueme LI L

) 7 Qs 8? S) 2xQe.f” @) 31 Gaig? #) 2Qeif2,

The curved surface area of a right circular cylinder of radius 1 em and height
| em is equal to

al nem? b)  2Zxcem? ¢l 3nem? d  2em?.

Clamg i leyeier efeuniiseia Bl Sl 10dliy 14+1 wpgn epbaleurgsdlean afss 28-4
aaile, Qsreinler Bal Gufu iy

) 425 ) 435 8) 424 R) 42-1.

The least value in a collection of data is 14-1. The range of the collection is 284,
Then the greatest value of the collection is

a) 425 b) 435 cl  42-4 d) 42-1.

A ool B weip Q6 Hepédlaciie P ( A ) = 0:25. P ( B ) = 0:05 wppid
P(ANB)=014 aeflsv, P (AU B) =

=) 0-61 =) 016 &) 014 ®) 06.

If A and B are two events such that P ( A ) = 025, p [ B ) = 005,
P (AN B)=0-14, then P(AUB)=

al 061 b) 016 c) 014 d) 086,
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LT

18.

19,

20.

21.
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5 1471(N)

Sifley - 11 / SECTION - 11
(wdu@ueasmaet : 20) / ( Marks : 20)

efliy : 1) Gurdsid ubgl NeTEHELHG oS weldameyb.
i) efew eam 3066 eI LILITE e wellasab.  PED
14 eSciramefSlmhe gGseud 9 Semssmens Catay Geluayb.
i) HaCar® amadpen Gyaa® whiGe s
Note : i)  Answer 10 questions in all.
i) Question No. 30 is compulsory. Select any 9 questions from the

first 14 questions.
{ii) Each question carries two marks. 10x2=20

A={4.8.7.8.9}.H={2,4.6}m¢;gjcnc={1.2.3.4.5.6} sreiléy
Al"‘l[BUC)g&anm&.

1{A={4.6.7.8.9}‘B={2.4.6}andc={1.2.3.4.5.6}.thenﬂnd
AN(BUC).

F={112,21(13.3)1( 15,3 ) (14,2, (17,17 )} ety arifié 2 wpged 3
sifluapdlen @per o (G HITENE.

Write the pre-images of 2 and 3 in the function

F={(12,2) (13,31 15.3),(14.2),(17.17) }.
ﬁé&:3x+5y=25.7x+6y=30.

Solve : 3x + By = 25, 7x.+ 6y = 30.

3, 4 g Fluaipon gpeuhisenT i Qe el GiBugé swsTLTLIG @S e,

Form a quadratic equation whose roots are 3. 4.

8 5 2 T
A -( 4 ]ﬂm‘ﬂa‘u AT wippid (AT ) S fluabeps GrEns.
8 8 2 T
lI'A-[ ].thenﬂnd AT and (A7) .
1 =8 4

T, o W ¢ PR
(5 l} lz 7] arerp sefaaiid QUEBHSmeE T CTaT .

a -2\fa A
Find the product of the matrices, g
5 1)i\e 7 x
N,

[ Hlsoys ( Turn over
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1471([N) 6

22,

23.

24.

a6 alsfd owvud ( - 6, 4 ) e fldr oo allLgdld o e

s fliyetref] aefle. wHQprek eeeenus &iedns.

The centre of a circle is at ( - 6, 4 ). If one end of a diameter of the circle is at the

origin then find the other end.

(7.3)(6.1) (8, 2)uwbpid (P. 4 ) adue gt Gacusyhila aflasiiug

Sieinhs o éflaer aaflés P-e1 wfllieous ardns.

H(7,3)(6,1) (8 2)and (P, 4)are the vertices of a parallelogram taken in

order, then find the value of P.

A ABC & DE || BC whpud -B—g = g.ﬂu: =37 Qe i aeflés EC g6 ancdns.

B

In A ABC, DE || BC and %g '%' If AE = 3-7 cm. find EC.

B

sin 6 cos A
+

cosec secH

= 1 aehiuens Hlnes.

sin 0 cos 0
Prove that + -
-cosecH sech

3O

Page

121



26.

27.

28,

29.

30.
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T 147.1 N
o uryis 150 Q6 1f 2 aher o HApudl ellerd@s sbugdlen e Hesmeurgy 1503 Qa8
garpsior Hpeos gpufsadore edid, olabes sbusdlen 2.é8lle ghmé

Qunrmeon1 s HiT e 8.

A girl of height 150 cm stands in front of a lamp-post and casts a shadow of
length 1503 cm on the ground. Find the angle of elevation of the top of the
lamp-post.

g Hlaono CpitanL & gainlflen Sy wHpDd 2 wyd WopGu 7 @il whpid 24 Qs
cronldh, BiBed euRMETLIENLS STains, '

The radius and height of a right circular solid cone are 7 cm and 24 cm
respectively. Find its curved surface area.

66 yerefl edagpher LTPUTLP6QEW 57 whHpd S allevdsb 6-84 aafld, s
sat” & agreflaws sreons.

If the coefficient of variation of a collection of data is 57 and its S.D. is 6:84, then

find the mean.

35 Qurpled oLty Gereiy gaéfle 7 Gurplss Gepuro .

250smelddiehs o Qurmst swarbiy gopiéd CatpOpdhed Gy o

GepUTLHD QuTgenTs GElushaTe Bl&Dheae) WTH ?

There are 7 defective items int a sample of 35 items. Find the probability that an

item chosen at random is non-defective,

3) g6 L GGz e S, = 1275 whpb s =y a = 3 Qurg allpdlurs
d = 4 sreflléh n-e wHNenend Hetoa.

Sfbvg

2,) wonGu 3 Qe whpid 4 G\a,uf ughsaTEHs Carao @) @amaniuealles
s seramanar aldlgsdlaas srams.

a)l In an arithmetic series S = 1275, first term a = 3, common difference
d = 4. Find n.

OR

b) Find the ratio of the volumes of two spheres of radit 3 cm and 4 cm

respectively. o (o)
\

| Ay / Turn over
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1471(N) 8

31.

32,

Sifley - IX / SECTION - 11
(oluGuesnseh : 45 ) / ( Marks : 45 )

@fliy: 1) Cuorksb geug allansseng oleweflasnan.

) eflom e 46-HE  sdgliurs el weflbsap.  apme
14 eflermésellellmbs gCaguib 8 allambssnmeng Cgitey GabweyD.

i) geai@ane alomalibgd mbs wdiGliconseh.

Note ; i} Answer 9 questions in all.

i)  Question No. 45 is compulsory. Select any 8 questions from the
first 14 questions.

iii)  Each question carries_five marks. 9%x5=45
Clausgorn_ hisenen LusTUGHES A\ (BN C)=(A \ BlU(A\C)aar fipee.
Prove A\ (BNC)=(A\B)U(A\ C ) by Venn diagram.

A={0,1,23}uppsd B={1, 3,5, 7, 9} eeiue Gyp semmise sres. [ A — B
slesT@ub amity f(x ) =2x + 1 eresidn Qe Hés s LILIL Beireng, @\éemifenen

i) afloss Gamyseflen e

) L euenenor

i) sybysk @oliul o

V) aueguLb sydlusupmore @hlde.

LetA={0,1,2,3}andB={1,3,5,7 9} be two sets. Let f: A - Bbea
function given by f( x ) = 2x + 1. Represent this function as

1) a set of ordered pairs
i)' atable

i) an arrow diagram

iv) a graph.

300 &@b 500 @b e Guuerer 11 2AUS UBUED SEIEE Elud e s eflsn
Sal’ L DHUGVES SHiTetors.

Find the sum of all natural numbers between 300 and 500 which are divisible
by 11.
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35.
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40.
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9 1471(N)
12 Qaf, 13 Qsaf, ... . 23 Qs duapep opGu LGS SETAHETTHE

Qemedor. 12 8 girhisefler Qurssll LyULeTe| STeds.

Find the total area of 12 squares whose sides are 12 em, 13 em. ..... . 23 cm
respectively.

aryefliu@ses = X2 - 3x - 10x + 24,

Factorize : x* - 3x% - 10x + 24,

4x?-12x% 4+ 37x% v ax + b s@E 96 U wissd eafle a, bl
whllysenend srams.

if 4x*-12x%+ 37x% + ax + b is a perfect square, then find the values of a
and b.

1 -1
A.[z 3] araflés A% - 44 4 51, = 0 erean By

1 -1
If A-[ ]Lhen show that A% - 4A + 512 = 0.
2 3

A ABC ¢ qpenemigeir A (2.1 ). B(6.-1).C (4,11 )eadéa Aldnphg cuemuiu@o

@EHeih Carigen S0ILITL L& HTams.

The vertices of AABC are A (2,1 ), B(6,-1)and C (4, 11). Find the equation
of the straight line along the altitude from the vertex A.

Aererev Cabpses aapd flesl.
State and prove the Pythagoras theorem.

40 & 2 wyqpeiren g Camyrsdlar 248 whpn oy Sfluapilelnbs G Hehsa]
ofensdler 2 68l ghpd Soraomsst apeopCu 30° whpk 60° aaflé. sekisey
aflenasdlan o wyhensb e sabisor olasddr 2 dN0fmba Conyyshle
24 5@ 2 66T FITHMBUD &N @08,

From the top and foot of a 40 m high tower, the angles of elevation of the top of a
lighthouse are found to be 30° and 60° respectively. Find the height of the
lighthouse, Also find the distance of the top of the lighthouse from the foot of the

tower.

W
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41. @O Gprari s@oemia aeeaugiy 704 & @518 whpd Sisn 2wyb 8 G
aafld sieh 2 mevenier aengenea sl flé amedse. ( x = —2-?7 )

If the curved surface area of a right circular cylinder is 704 sq. cm, and height is
22
8 cm. find the volume of the cylinder in litres, ( Take = 7 )

42, 14 & oL apd whpd 20 8 Sypweien G Sy 2@ augefe Qe Lu@Hlng.
Seuary @t ouo Gurg  Gpredomg QuBsetulL  oedl fore uytuiut @
20 & x 14 f Serameilss Siglubsinrss Qara. G CLLWIE EOHHILLLTH.
2inGuen Ol 2 wib &TETs.

A cylindrical shaped well of depth 20 m and dlameter 14 m is dug. The dug out
soil is evenly spread to form a cuboid platform with base dimension A
20 m x 14 m. Find the height of the platform.

43. 10,20, 15, 8, 3. 4 erenp ysreflafanhmeilen AL alasasomps ardns.
Calculate the standard deviation of the following data :
10, 20, 15. 8. 3. 4

14, o oulé 10 Qeasteer, 5 sGUY, 3 LUsms whnid 2 Aaui) Hiptuhgimet 2 eferer,
swaurbiy popde CatpOsEssILEAD GO Uby Cusimen JGag HBHOY SSvengl
uées Blpors @elusbere Hepssailamsé arawos.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at
random. Find the probability that the ball drawn is white or black or green.

45. =) (x + 29 wppd ( x - 2 ) ydflweupibles poadfladd mpad, 4x + T-@
soadfifler 6 wLhgHe swomiler x-61 bHuy(amend) arans.
Sjevengl

o) yetefl (- 3. 10 ) ayflurs Qeded suguzid Qo (i geRaailar sa®sne
8 By SEDDWEH Galg LFIDTET CriGariige swetUT G (sanen) &Hiras.

a) The sum of the reciprocals of ( x + 2 ) and ( x - 2 ) is equal to 6 times the
reciprocal of 4x + 7. Find the value(s) of x.

OR

b) Find the equations of the straight lines passing through ( - 3, 10 ) whose
sum of the intercepts is 8.

W
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11 T 1471(N)
fifley - IV / SECTION - IV

{ wluQuemaer : 20 ) / ( Marks : 20 )

@iy 1) @uidflellé e e gaiQers allamallgn @ramG wrbn eleméssh
QlarHésliuc [Heferer,
) ga@arg oloralgud o dier @uean® wrpp olensesefleimhs
a0 alarma Caistadss @ alomssensen ol wsflésag.
i) geiGang elamalihen uss wHICUG sel.

Note : i) This section contains two questions, each with two alternatives.
i) Answer both the questions choosing either of the alternatives.

iif) Each question carries ten marks. 2x10=20
46. =) 3 Gsd gyesier el jdlén ovuifdoby 9 Qs Cgrowads G
yerefleowds @fids. Soysailifa Goba alrddbe GoosrE@Ean@as
ous e, Seupdles Fensenss scoorhd e .
Sebevgs
2,) AABCé BC =5 Qs.8, £ A = 45° wppid 248 A ONmhe BC &g euemquiul

BR&GaT e Ford 4 G& 1S eran BEHEGLLY A ABC auens.

a) Take a point which is 9 cm away from the circle of radius 3 cm. Draw two

tangents to the circle from that point and measure their lengths.
OR

b)  Construct A ABC such that BC = 5 em, 2 A = 45° and the median from A to

BC is 4 cm. \T”f’
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47. &) eueguLbd apewd £iss : x2 - 2x -3 =0

Syeeug
a) | x 1 3 5 S| T
y 2 6 10 14 16

Guhseion 2 L euenemidles o_eien alleursfibe suepuLb aumrhe SiEe apeuh
1)  x=4egalé y e wdleus srams.
i) y=12adflés x & wfllienus areos.

al  Solve the equation ¥R O B ) graphically.

OR
b) x 1 3 5 7 =
y 2 6 10 14 16

Draw the graph for the above table and hence find
i} thevalucofy if x = 4
i) the value of x ff y = 12. A\

Page

127



UserMedia.blogspot.com

st

Page
128




UserMedia.blogspot.com

UserMedia.blogspot.com

Page

129



	x std maths f p.pdf
	10th maths-final (1)



